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Warm-up (4 points per question / No points deducted for wrong answers)

1. What is the next strip?
Tim madnh gidy tiép theo.
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2. Freddy uses 13 puzzle pieces to create the word FMO below. How many puzzle pieces are

quadrilaterals?

Freddy ding 13 mdnh ghép dé tao thanh chi¥r FMO dwdi ddy. Héi cé bao nhiéu ménh ghép la

hinh tw gidc?

A) 5

)7

B) 6
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3. Mr. Brown puts the number 510 into the following machine. Let’s help him calculate
what value will come out.
Ong Brown cho s6 510 vao chiéc mdy duwdi ddy. Hay giup éng @y tim sé di ra tir chiéc mdy.

510
QWW O

A) 1183 B) 1093 C) 583 D) 1083 E) 1193

F5¥ A FERMAT

4. There is a pile of papers on the table. Which one is lying at the bottom?
Trén ban cé mét chéng gidy. HAi to gidy ndo nam & dudi cling?

A) Red B) Yellow C) Orange D) Green E) Blue
5. Which tank is filled second? ’I.
Héi bé nao day thu hai? .

C

4|—|\|7

D

A) Tank A B) Tank B C) Tank C D) Tank D E) Tank E

Il. Speed-up (6 points per question / No points deducted for wrong answers)

6. Jimmy accidentally put some sticky tapes on his calculation and couldn’t pick it out.
Let’s help Jimmy find out what the hidden digit is, given that the two hidden digits are
the same.

Jimmy vé tinh ddn miéng bdng dinh vao phép tinh va khéng thé g& chung ra. Hay gitp Jimmy
tim mot chir sé bi che khudt, biét rdng hai chi¥ sé nay giéng nhau.

alll+ s]l|= 104
A)7 B) 2 C)4 D) 0
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7. Anna and Tom play the game of code. They convert all the letters into numbers

according to a rule.
If FFMOMATHRE is 1123267549 then what is FERMAT?

Anna va Tom choi trd choi mat mé. Ho chuyén hét cdc chir cdi thanh cdc s6 theo 1 quy luét.

Néu FFMOMATHRE la 1123267549 thi FERMAT la bao nhiéu?

FFMOMATHRE

1123267549

A) 194276 B) 194267 C) 194762 D) 196427

E) 196724

8. Lucy has a sticker. She can cut her sticker into two identical pieces below.
Lucy c6 mét hinh ddn. C6 bé cé thé cat hinh ddn d6 thanh hai mdénh y hét nhau nhuw dudi déy.

Which answer CANNOT be the shape of Lucy’s sticker?
Héi hinh ndo KHONG THE Ia hinh ddn cia Lucy?

A) B)

D) E)

KY THI TOAN HQC HE FMO 2021

C)

Ban quyén thudc vé Fermat Education — Nghiém cdm sao chép khi chua cé sy dong y clia Ban T Chirc



FERMAT

Education
9. Anna has 4 balls weighing 1kg, 2kg, 3kg, and 4kg. Anna weighed all of them and got

the results as shown. How much does ball B weigh?
Anna c6 4 quéd bong ndng 1kg, 2kg, 3kg, 4kg. Anna cén cd 4 qué béng va duoc két qud nhw
hinh. Hoi qud bong B bao nhiéu cén?

A :

A) 1kg B) 2kg C) 3kg D) 4kg E) S5kg

10. Four Girl Scouts sold cookies for one month. The graph below shows how many boxes
were sold by each Girl Scout.
Bén ban hudng dao sinh bdn bdnh quy trong 1 thdng. Bang bén dudi téng hop sé hdp bdnh
dworc bdn bdi méi ban.

Number of boxes
60

50
40
30
20

10

Isabella Sam Emma Grace
Which two girls sold a total of 70 boxes of cookies?
Héi hai ban ndo dé bdn dwoc téng cdng 70 hép bdnh?

A) Isabella and Emma B) Isabella and Grace C) Sam and Grace
D) Sam and Emma E) Isabella and Sam
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lll. Challenge (8 points per question / No points deducted for wrong answers)

11. Lucy uses her toy blocks to build a house. Her father steps in her room and
looks at them from the right side. What does he see?
Lucy ding cdc khéi dé choi dé xép thanh mét ngbi nha. B6 vao phong Lucy va nhin
cdc khéi dé tir phia bén phdi. B6 nhin théy gi?

-

A) u B) u C)
D) u E) u

12.Uncle John places some bricks on top of each other to build the following flight of

stairs. At least how many bricks does he have to use?
Chu John xép cdc vién gach chdng Ién nhau dé xdy bdc thang dudi ddy. Hdi chu cén ding it

nhét bao nhiéu vién gach?

A) 9 B) 11 C) 13 D) 15 E) 12
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13.A mouse is trying to escape all the

traps and find the cheese. He can only
follow the lines. If the distance
between two consecutive dots is 5
centimeters, what is the shortest
distance he needs to travel?

C6 mét chu chudt dang trdnh by dé tim
phé-mai. N6 chi ¢é thé di trén cdc dwéng
thdng. Biét khodng cdch gitra hai diém
lién nhau ld 5 xdng-ti-mét, héi doan
dwong ngdn nhét chu chudt phdi di la
bao nhiéu?

A) 50cm B) 55cm C) 60cm
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D) 65cm E) None of the above

14.John leaves home at 7 o'clock. It takes him 30 minutes to get to the restaurant. John

eats breakfast for 10 minutes and then continues to go to school. After 25 minutes, he
arrives at school. What time does he come to school?

John r&i nha luc 7 gi¢r sdng. Cdu bé mat 30 phut dé di tdi cira hang dn. John dn sdng hét 10
phut réi tiép tuc di tdi truedng. Sau 25 phut, cdu bé cubi cung dé tdi trwong. Hoi lic cdu bé tdi

trwong la méy gio?

Ty
oy
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15.This pictogram shows the weather over three days in summer.
Biéu db thé hién thoi tiét trong 3 ngay nghi hé.

Friday \ﬁ ?f ?)& 2/_-,@1 ?’i@'—j ©-é 3@
soury | ) ) P2 @)
Sunday ,ﬁ ?}:} ))C}@"@er@ 9@

Given that each symbol tells us the weather of 2 hours and 40 minutes in a day, how
many hours of sunshine were there in total over the three days?

Biét rdng méi hinh vé cho ta biét thoi tiét cta 2 gicr 40 phut trong mét ngdy, hdi trong 3 ngady
c6 téng coéng bao nhiéu gio ndng?

A)6 B) 18 C) 16 D) 14 E) None of the above

IV. Star of hope (10 points per question/ 10 points deducted for wrong answer)
In this part, you must write your answer on the answer sheet.

16.Teacher gives each of student in class a number of candies. Anna, Tom, and Peter are
talking about their candies. How many candies does Anna have?
Co gido dwa cho méi hoc sinh 1 sé keo. Anna, Tom va Peter dang ndi vé sé keo cta ho. Hoi
Anna co bao nhiéu cdi keo?

| and Peter have
9 candies altogether
T& va Peter cd tét ca 9 cdi keo

| and Tom have
19 candies altogether
T6 va Tom ¢4 tét cd 19 cdi keo

Za I and Anna have
“?‘ 2 0 §,,- 12 candies altogether

T& va Anna cd tét c 12 cdi keo

Congratulations!
This is the end of the test. Please review the answers carefully before submission.
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